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Instructions for Candidates :
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Q.1

Q.2

Q3

Q.4

Attempt any five questions.
fH=81 dia ugal & IR QI |
All questions carry equal marks.
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Write short notes on any two: i

(1) Income determination in two sector economy through aggregate expenditure approach

(i1) Induced investment and autonomous investment

(iii) Motives for holding money

(iv) Money Multiplier (7', 7'2)
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(1) What are the major concerns of macroeconomics? Explain.
(ii) Explain the circular flow of income in four sector economy with the help of a diagram. (7, 8)
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What do you mean by national income? Explain the product method of estimating national income.
(15)
JMETT 31 ¥ 3T FT FHSI 22 IS 3T 3fihold Y g fAfy &1 gofq ST |

(i) Derive the saving function with the help of linear consumption function and present the
relationship between consumption and saving through graph.




(ii) Compute the following table:

(6,9)
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Q.5 (i) You are given the following information about an economy:

Q.6

C=100+0.5Yd
[ = Rs.80 crores
G = Rs.80 crores
T = Rs.60 crores
Answer the following:
(a) Determine the equilibrium level of income
(b) Value of consumption expenditure at equilibrium level of income
(c¢) If G increases to Rs.150 crores, what is the new equilibrium level of income
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(it) Explain the process of income determination in a three sectory economy using aggregate
expenditure approach. (9, 6)
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An increase in marginal propensity to import reduces the equilibrium in an open economy while an
increase in autonomous exports increase the equilibrium income. Explain with the help of diagram.

(15)




Q.7

Q.8
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(i) Explain the money market equilibrium. What happens to the demand for money curve as
income increase?

(ii) Prove that the open economy multiplier is the reciprocal of the sum of marginal propensity to
save (MPS) and Marginal propensity to import. (7,8)
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What are the functions of money? How is money supply measured? (15)
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